We ron have a CQMWMWM\ Wy 1o ﬂuomwf@& A Pa%\q w0 Delef] -8
s o -Haldee onfimion !

Ky = L7 L2 A )
Tf K, <eo Chhen e CF aad i -] < Kg(w) st stu%é Dofor|

Norgovte i (54 s @W\P[QJQ)J&\QI\ J1 ¢ ngr\m W folf— (S
(W Bhe Some cpnetanT Calw) = (5)) %»&+@wof3(vy oG Ew
Thig gives uS o \\Pé’HﬂU % ﬂ\wmﬂh@ e xtonte @F a 7 versibn @Tp

o glodnoaTic process based on 1Ts 1 - dinengng) At byt o

T\(\QOVQW\‘- | ot CXQ{GTDM:@JH "@ﬁd)m — (S 4)

Suppege Jero, PI+E, and C2>0 ¢t
E{&(Y%X@P\ < C\S'HHZ XV/SJ%GQDFOJH

Then for gaoh a6 (0,¢p), Jvrv. K00 6 T sk

OMX%XQ < KO{ZXB]&G]O( Vgtéﬂ)nﬂqw,




W@OfQM‘- | ot CXQJ@HDM@JH "@L;}Jlm — (S)A) SV\WPQ%@ e >0 P>

e Elde X)) < Cisbl" Vst eDealo il
Then for gach € (o, ep), v Ku(X) 6 ANEENS
oMX%m < Ko{(XBJs«G]O( \/Woéﬂ)n[q!y

Proet KO0 w) = K, (e %)
(X = 1 (X5, Xy )]
A CRERRND
A0 € T 2’“%

S K OOl < 1 ST /,xml I

Nz,

<ZHJ°<2/L | _

In pm‘%w\m KalX) €22 a5
= on this P = Q)ijr/ %\—%Xt s C on ‘D“LOMI)
\/\I\/@f\ @mﬁjfam}r <Ky O@




N@m we  need *o %p ‘0%5&\0{ D ] @\”A \Ongvd EQJ”

T\K\QOW@\/VV (KQ’W\OC}OPO\)’% COJ\]&’\V\M\FJVYX C\F)(JfQNqO)
Lot TeN_ et (Sd) be a @mp\e)fe)semmbla mefric Spae (9. nt)
LQJE (XJJ teCoT] (ﬂ)ﬁ)ﬂ)}‘”(%ﬂm @% &%JFGL\\&SJ[)‘Q ?Po&éé) .1

Eldoe XD ™] < Cis-b Vste o

?of o @ g)(’)Q and. PZ'HLE» Then ]ng Q)QCL\ o(é(O)f/]Dv , thorg 1
"N Mw&ﬁm VOW\&LH@ KOJXB C‘LF, m\d O \/QN'_%I\@/V\) (%@bé[o)ﬂ O)C (XﬁfeT
&V\&Jg 1S CO(CEq'T] )S)) §£{+15¥n(ﬂ6

Jl(%«ﬁo € KO0 17417 \%S)%é [oT1
P%Cﬁ FN%JB % <M]C(){L&S )fo Fr\o\/g the J[%QONW\ SQP&I@J(QM

o Qaln .v@rew&v( "%f%*ll gof csvw &£ LT

All The {(\wm(ﬂr% aYe JWW\%\MJV}@A ‘MWW%%’ SQ)
SU\%{C&S o Prove the WSMlJﬁ on Lo ]




%@ the preceding J@\«Q@mm) we have dhe ey KoX) 6L sk

A (M5 %) < KalX) 1s-4|* ¥s de Dolo)] ﬁf@
O the P=1 svink §\< mm} 31 C* stension Xpdiecary of (0 aemngon
S&A(rﬁfﬁma @“@ on o F Lo} \/\/Q now show X & a Versiow OF A

p JLC {OJ )
o (x; %)

T ]Q{Jﬁ“ﬂ S Vany Jg\/\muﬂ\n Lo 1T

—



g Breaninn Majﬁm (Bdtzo ' (5% PY = ( ﬂfﬂ%(ﬂf‘ ))
I [ d
lv\Ol‘lPQﬂd&r\)( \V\CNW\Q)Y&%) %t”p)g % )\V (Q)(J(JFS)Io“ For‘ ]Q>S?O

Eg. Poisson pross. N yro: (S58P) =N ‘“h“‘g‘% A

Tw@QQPQﬁ\AU\% I—V\CNW\QN\JVS (\JJQ (\]58{ POi%SO\(Jvﬂ)) 30@f {>3ZO_
CELING Nl = Dol ( c%)ﬁ g M)

N2 o




